
•

•

•

•

•

•

•

•

•

����
� 

! = ����/� 
"#$% &���� = ' ()(+

§ §

§



",
� � = - � .

-
� .

� . = 012� 3456789: +0<2� 3>?66: +0@2� 3:A5�B 456789:

� 3 � 3 = min � ),:, V ,8?D , �E
� ),: V ,8?D

�E = ' /F:
F: F: = FG/2

FG
FG - = I J3 -35

-3 0 ≤ -3 ≤ 5
σ3 0 ≤ -3 ≤ 5
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O8?D = OR
O8?D = 0.5 OR + O7 /T )
O8?D = ⁄O7 T )

O8?DW = OR O8?DX O8?DY O7

O8?DX = OR + O7
2 T ) = OR + O7

3
O8?DY = O7
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• Force Local Values (FLV) 

• Force Global Values (FGV)

OB is the target displacement

• Displacement Local Values (DLV) 

• Displacement Global Values (DGV)
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b = 0.464 efg • _B
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+D = 1.82 efg
+R = 1.27 efg
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l = l$op % = %qrstut ", = ",,vpp#wx.
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+D = 1.40 +R = 0.75R

• +�8^3�34?6 = 0.464 +D = 1.82 +R = 1.27 ����,?^^� ����,?9?6
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l = lvyvz % = %vyvz ", = ",,vyvz {| = {vyvz

"#$% l = l$op|#|}vz = ~. ���
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§ Failure indices λv

ü l = lvpp#wx % = %qrstut

� . = 012� 3456789: +0<2� 3>?66: +0@2� 3:A5�B 456789:

� = - � . = - 0.72� 3456789: +0.92� 3>?66:
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����(�)
� ,?^^�5D. !\,?9?6. =

����(�)
� ,?9?6. !],?9?6. =

OB
O8?D

!?^^�5D. ∶ !\,?9?6. ∶ !],?9?6. ≈ 5 ∶ 3 ∶ 2
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